Ll

-

s
L

i

e
.

L
R
L
,.\\“5

- - - -
s SR S e e S SEIEEL IS
e o i i i o

.

L
i

-

R e
L !
|

L e

e

R

i‘ i { { § i { A | §
el L TR | "R | i s

i : | ! ! {51

MADE_IN TAIWAN
g ) fid et

o aon e e LR S Y T T (I T R



& 567 Nam

e
AR

R

G ERER = iR




RigtEil

R0
SaftylMode Safty Mode
R AR SRR GT R e RS
B EHEHEE

Full-Auto Mode
HUEREAR - RS EE R

SEMI-Auto Mode
H—RIRWREE G — 738

O

/0

% EMMBBAES £ S5 A Bfi HiS Y 35 38 2§ 18 R HT R IR AROEAFLEA
Fill 6mm BBs with loader. 155 588 A58 ] A S 088 2R I T HRSEAR 8 Fill gas from bottom of magazine.
ABB3E I Xﬂﬁﬁﬂimkg yp: 1

Push loading rod 6 times to fill around 30
Bbs into the magazine. (R22/Green Gas)



IR AT R EREDY, fEfeE LI - iR bR EH AR B0/ (OFF) , ietE BN A 23 -
XAZEE D HEEE BRI, F2iEe) - iR 58 R0/ (ON) , iet%BNFERN, Bl B3¢ -

o

GRS R) B¥ BERN, REHEHE -
XIREC @ R, BE N REBITT R -

u\
L

L
o
\U\\ \N\\ \\

PR B RIS tNIRIRPI, RIRPIZ GG HESEHMH



(6) taRAEBDERE

MTEE - pi RS EA TR - IS HREEN T, BIoIBAR E TR S
A GRA%

MR LETRS B SR

mHREH RERD 5T



= SE B

EXPLOS | ON

w3 SHEESE gE | FE SHIEERE S | iR% S =
1 |[L85 e 1 62 |L8ctEtiEmEE 1 123 | L85EEHERARASSER 1
2 |L85’EE 1 63 | L85IRPHIR & T i 1 124 | E25ERASER 1
3 |[L85FEXK 1 64 | L8SPRPRIRA @ E fHoE = 1 125 |EEREEAEEE 1
4 [LB5REXK 1 65 |L85RHTEE I 1 126 | L85{REHEDEHR 1
5 |L85B5ANE 1 66 |L8SRHETEER 1 127 | L85{RIEDEHES R A 1
6 |LB5EKRRIE 1 67 |L85RHTEEBEH 1 128 |L85:E1EH 1
7 | L85k 1 68 |L8SRHTSERIKIE 1 129 | L853R B 14 1
8 |BE 1 69 |L8SRETEERFIEEE 1 130 |IRBEFERIZE 1
9 |/&Eal 1 70 |L8SRHTEEEE 1 131 | L8SIEHEIER 1
10 |L85FFENRE 1 71 | L85tk RE pLEE 1 132 |L85REiHEE 1
11 | LBSFAENR == 1 72 | LBSEAREME 1 133 |M2X10F 58 2
12 | L85 EERBES L 1 73 | L8SEARFKIEiHEE 2 | 134 |EsEAIAEM5X10 2
13 |LBSEERBESRT 1 74 |L85 FEARBH 1 135 |MeX4+= 1
14 | /EENZEEE 1 75 |L8XEE RS EEH 1 136 | SFEEM3X20 1
15 | O0I®15X2 1 76 |L8SESRBEITFHER 1 137 |PIN2X10 1
16 |PIN1X18 1 77 |L8508P9E A 1 138 |BIIM3X8+ZF 2
17 [ M2X4EEE 3 78 |L8SIRIDIG B E R E 2 | 139 [PIN2X28 1
18 | BRRRREZE 1 79 |L85iZiliEHM 2 | 140 [PIN2X14.5 1
19 | L85 TERIR 1 80 | L851ZIEE T iRk 1 141 | EEMSX14 1
20 |L859MERE 1 81 |PIN2X63 1 142 |[M2X10+= 1
21 |L8S5iREB R 1 82 | LB8SiEMEE e 1 143 |M3X6+= 1
22 |85 HTEIRESNR 1 83 | L85{RPm &R 1 144 | M3X51E1T 1854 1
23 |HOPUPEE-15 1 84 |L85HEMEZREAPIN 1 145 | M3X10LE 1T 1R %% 1
24 | N\EB 1 85 | LB5HEHHE itk 25 55 38 1 146 |M2X3+= 1
25 |AEES8.5 X461MM 1 86 | LBSHEMEZE R 1 147 |M3X31E{T iR %k 3
26 |HOPUPZRZEEIR 1 87 | L85 KLHTIE &5 E A 1 148 | EISEAI7\AM4X6 2
27 | HOPUP#E @2 1 88 |L8SHIREEEHED 2 | 149 | ¥BE5EATEMAX6 4
28 |HOPUPZ®E 4R 1 89 |L8SHERBETEHE 1 150 | SBEM4X6 2
29 |HOPUPEE-Z 1 90 |L8SIREETE Mo % 3 | 151 | ¥EEAIEMIX16 2
30 | FAEnRAMEHR 1 91 |L85IEF 1 152 | FEE+5M4X6 2
31 | L8sizitHEHE (B3L) 1 92 | L85k 1 153 | M5XBOMMIR $k 1
32 |L8SEHE 1 93 |L85IBFIEKE 1 154 |PIN4.5X16 1
33 |L8S#BIEERIR 1 94 |L85ES 1 155 |fE@IEE 2
34 | L85[EHERE 1 95 |EEWMEMIL 1 156 |M4sEEAES 1
35 | L85t iR 1 9% |EEWME 3 | 157 [M4L38EEE 1
36 | L85IRIEEE 1 97 |L85RGE 1 158 |MABEAEEES 1
37 | L85 FiEEAGHR 1 98 | L85iaH%IE R iR 1 159 | %88 1
38 | L85EAKRMEE 1 99 | L85k ELT 1 160 | BEINR 1
39 | L85HEtiE 1 100 |L85R3E A 1 161 |K= 1
40 | L8SRIBERE 1 101 | IRHBEEHEAE 1 162 | BN 1
41 | L BSIEH A IR 1 102 | AR 1 163 |R@MIHES 1
42 | L851EHIBIT 2 | 103 |IRBERER 1 164 | RiE% B HE 1
43 |L85818 1 104 |IREEEER=EE 1 165 | s 1
44 [ 85EI2EE 1 105 | iribehE 1 166 | 9 [ AN 2N 1
45 | L85 EIRED 1 106 | #f0\4x22 2 | 167 | MRk 1
46 | E$02. 5mm 1 107 | 2258 1 168 | 15 HI 1
47 |PIN3X7 1 108 | EBHERARAR NS 1 169 | RITE IS 1
48 | BREEERIRK 1 109 | iRio=s 2 | 170 | BTFEHEEEMG 1
49 |L85BIRBEER 1 110 |EB§HoEE 1 [ 171 [1. 5184k 2
50 |L85BHEEE 1 111 | EHME 1 172 |M2X5E R 5
51 [L85igiE 1 112 | E25ERARAR 1 173 | FoERss = 1
52 |L8oEER 1 113 |$E8t 1 [ 174 | EB0EEHR 1
53 [L8S¥EERETR 1 114 |L8oRIBAEWE 1 175 [M3X20+3 4
54 | LBSHEES S mar 1| 115 | Emsmms eI 176 || DB, 5 2
55 |L8588P9 1 116 | L85k 1 177 |M2.5X12FBE+5 1
56 |L8S¥EEIRE 1 117 | L85 1 178 |M3X5EEE+= 1
57 |L85¥EE 1 118 | B ftAR RS 1 179 | BZEPIN2X12 1
58 | L858BPYiEHH 1 119 | Ja#% 1 180 | FERIRFRE 2. 5X5 2
59 |L85E2IRHK 1 120 | IRMEEE & 1 181 | FEARBHRER 2
60 |L85BBPYIRR} 1 121 | 3P BEIRHKM2. 5X6 4 | 182 |#§\4x16.5 1
61 |LB5FEREIERE 1 122 | ERE#H 1




= YE B

EXPLOS | ON

&/ 1219 2121
125 £2a120
s #7113 136
@ / , w I Jf/ﬂe i
0 -

~13 g
- &
- c [ 1101
T Ak o7,
124125 50 o@]
rv’
139 .
&N
10 1370
Yy 182 86
3 112

06
111 A4
N Eﬁ] 108 0
P o 98 g5 2

109 107 105 84



wEH
a| BEM12kaR @ 5B 2RI NGB

(R22 / Green gas) (Never place it near fire)

BEFHIRSRE am 2174 H R il
d (Never store the Magazme above 40C) j (Never place it directly under sunshine)

l]IIF"

0 Caution! /\ VORSICHT
A PRECAUTION Ausschiesslich fur diese Pistole bestimmte
NE PAS UTILISER D'AUTRES Munition verwenden.(6.0mm Kunststoffkugeln)

O e G MR R A o B 85

[[] Be sure to wear shooting glasses or
Goggle when shooting. * A
: . , AN R IR AR 7 5
A Toujours porter des lunettes de tir ou de protection NG R 'JII’JMIL)

quand vous tirez.
[1 Put the gun beyond the reach of kids.

A Tenir hors de portee des enfants.
/\ Pistole immer kindersicher aufbewahren.
I Ponga la pistola fuera del alcance de los ninos.

/\ Zum Schiessen stets eine Schutzbrille tragen.

Bl Asegurese de llevar puestas las gafas de proteccion
cuando dispare.

O Assicurarsi di indossare lenti di Protezione quando )
si spara (O Tenere fuori Dalla portata dei bambini.

SN x

[] Don't aim at people even if it is unloaded.

K AN FH R e iAg A Ne jamais viser quelqu'un meme si votre m
ul[

[] Don't peep at the muzzle. pistolet est vide. { i
A Ne jamais regarder /\ Auch bei spiel-und Sportwaffen besteht v

dansie canoky Verletzungsgefahr. Auch ungeladen nie
A Nie inderiBit schausen auf einen Menschen oder ein Tier richten!

; M No apunte a personas, incluso descargado.
B Jamas mire por el canon

O Non guardare mai dentro la canna (O Non puntare mai verso le persone anche se la pistola

scarica.

€

Y SRR 0 o v DU (R =y e Tite T IR S [
PETARCHE AT s - ISR SV

[] Don't touch the trigger until the v a [l After making sure that there is nobody nearby
moment of shooting. A Toujours etre sur qu'il n y a personne dans

A Ne jamais appuyer sur la gachette le rearmement. la trajectoire de votre tir.

A Abzug erst dann beruhren,wenn Sie zum Schiessen A Vergewissern Sie sich vor dem Schiessen stets,

bereit sind. dass niemand getroffen werden kann.
B No toque el gatillo hasta el momento del disparo. W Antes de apuntar aseguese que no hay nadie cerca.

(O Assicurarsi semper che non ci sia nessuno sulla

O Non toccare il grilletto fino al momento di sparare. traiettoria di tiro.

e AR > EE SRR ST T

- [] When the gun is not in use, remove
‘\"‘EJI\' i, ’/("' =) o

* %?ﬁ?méﬂﬂ the magazine and unload BB pellets.
5t o [E

[ Avoid a rough operation.

A Ne jamais jeter le pistolet

A Quand vous ne I'utilisez plus,bien
Faire attention de retirer le chargeur

et de le desarmer.

. ° ° )
A quand il est arme. . AN . /A Zum Aufbewahren Magazin entfernen und 635~ \
Geladene Waffe stets mit Respekt Kugeln herausnehmen.

BehandIn. Nicht werfen oder unsanft Jandhaben. B Cuando no se este utilzando la pistola, saque
@ No tire ni lance la pistola, se puede disparar. todas las bolas.

O Evitare azioni brusche. (O Quando I'arma non e in uso, estrarre il caricatore
e scaricare i pallini.

o EAEAE ) R, T F % W B e S A2 R SR 09 48 T T ik IE R G IR A L 1 S R

[1 Miss handle the airsoft gun may condition serious injure or death. Please read the safety instruction before use.




